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FHHAEA - B HAE K

ds® :=dp - dp = (du, dv) I ( ) Edu® + 2F dudv + G dv?,
11

T:= —dp - dv = (du,dv) II (d ) = Ldu®+ 2M dudv + N dv?.

EES
BHAN, BoEATRI T X -2 L S0,

2021/12/23 6/ 16



T A HNT AT

- 1 G -F\(L M
— 71 —
A=1 H_jM—FQCF E)(M N)

EH (VA Y HLT Y DRR)

(Vu;Vv) = _(puap'u)A-

Z

I =0 %513 p DBIFFEEHO—HBTH .

2021/12/23 7/ 16



74 Y H LT VAT

kil
> T A UHILT AT RS OBRIZEEIC X S0,
> T A HLT ATHIDEEEIZ ST X —REEIZ X 570,

TEFR

H AR = K :=det A = det II /det T,
1
SEEHR = H = étrA

2021/12/23 8/ 16



f] - R 2-1

( )t 2u 2v w402 —1
u,v
PO T+ 1+ @+ 02 11w 402 )
v(u,v) = £p(u,v)
- 4 10 _ R
1+ u? + 02 (0 1)’ T
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] - [ 2-2

Pa(u,v) = (cosacoshu)e; (v) + (sin asinhu)ez(v)

+ (ucosa — vsina)es,

e1(v) = (cosv,sinv,0), es(v) =€} (v), es ="(0,0,1).

sina cosa

7 cosh vl 7 <—cosa sma) 7

K = —sech®?v, H =0.
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flx,y) DT 7 pla,y) = (z,y, f(z,y) DHEE :
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0 ZE0HXBTERINTZ2oD CP-HEEE ¢, v 1ITHL T,
JRR D TERINIEE f(x,y) = p(z) +Y(y) DFF 7
p(x,y) = 1t(:v,y,f(av,y)) FIERIHHZ 52 5.
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[l
IR T 8T X — 2D - ZE IR v(s) (a < s < b) DHIZREY
Bk XM (a,b) THEEEFRVWE TS, ZOLE, (a,b) xR
T p(s,t) :=7(s) +t7(s) LEDS.
> p DREF[ES, T742bb
{(s,t); ps(s,t) & pi(s,t) D—XKHEIE} ZRDIZEZ .
> p DIEAIFES (REATROROES) ETO p DHY R
R, PR 2R DRI W,
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BE S = {"(,y,2); 2+t + 24 =1} CR31Z, %D SR
HZ525%. SO AMBORKEZ KDL I V.
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